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o= / %5 X 0.6
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(ii) Transverse acceleration under § 154.409(f)}2):

2 2
ay = :ao\/o,6+2,5(-%;+o.os> +K(1+O.6K%>

(i) Longitudinal acceleration under § 154.409(f}3):

ay = tagy?. 06+ A2 - 0.5

where:
L z \fO0.6
A =107 - «=Re + Se=N—
1200 Lo Cg
Lo = the distance in meters on the estimated summer

loadline, from the fore side of the stem to the after
side of the rudder—post or sternpost: where there is
no rudderpost or sternpost, Lo 15 10 be measured to

the centerline of the rudder stock, but in any case



